S 64 Mr. ¢ F(x)= axb-%wl
oy - D0 o =1 ,¢=0,d=0
b) /[(X): /"Xg—g_‘_

) = o=4 : 5‘—'3/- C=0/d—,0
50 s = ’ =50 L:'/d-:a
d iRE oK - L340 g ; 59 /

e S
(/) f(X)'é 0}(3 - __5?.,.3 =70(=0/.b_3 y (=7

S64 Nr. 7

(l) 9()()_)_00 fur X 2t o°
5) > Yol For x> too
() ‘jfx)-9~0¢ rig s g
ﬁu'k x—ai“’

diuei= "

SC& Nr &
6} Ef 9’//.:/ m/np/a/fni rne
Kullstelle .

G"b’l &5 mehr gls ene /{/u/b/t//c,

so muiss dre Anzahl dov Nullstello,
(/njcrao[t Serm

Es lbonn nur 0/ 2/. ‘l/

also eine jl’fa(/c Anzaghl vor
[){h{mn‘!//{n ft’érn.




